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5/2 - Simplifying Square Roots
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How many "perfect squares" are there?

[, 4, ], b, 25, 26,4, 64, T,
(oo, T, (44, (6,196, 225, ...
'mgihi\—c,‘.

’g

There are other "regular” square roots that are in between
the perfect squares...
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Break the number into factors so that one is a
perfect square and the other is not, then simplify.
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When the numbers get too big or when you can't find a
perfect square, start using any small factors until it breaks

down into something you recognize.
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If there is a number in the front, just times simplify the
square root then times both numbers out in front.
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